Multi Way Ball Valve
L Pore / 1000PSI

Standard Bore
1/4” ~ 7

FEATURES

e Investment Cast Body Construction
* 3 Pieces of Seats Design AVAILABLE

* ISO 5211 Mounting Flange

* Blow-Out-Proof Stem Design

e Available for L-Port Only

* Locking Device

* Super Alloy materials for highly corrosive medium are

CRN

CERTIFICATED

( 1100-

W(EB 11000PSI

available upon request
SPECIFICATIONS

PRESSURE IN BAR

PRESSURE IN PSIG.

®o » Size Range 1/4” ~2” (DN8 ~ DN50 )
B ) ) Q@ oy * End Connection Threaded End
Hpps e Lok el O @ f’? « Working Pressure  1000PSI (CWP ) for 1/4” ~ 2°
. * Steam Pressure 150 PSIG. Saturated Steam for PTFE.
* Temperature Range -4 to 356 °F (-20 to 180 °C ) for PTFE.
* Design EN 12516-1/3
* Mounting Pad ISO 5211
e Threaded End NPT/ BS 21 (BSP )/ BSPT /1SO 228-1
/ DIN 2999 / 1SO 7-1Rp

* Face to Face MFG
* Material ASTM
* Pressure Testing API 598

CERTIFICATE
* Quality Assurance ISO 9001
* Material Certificate EN 10204-3.1 MTR

.!7;07""% ) 90° .
II :I///{—‘“L““‘%‘\\ . CE Approval PED 2014/68/EU Module H

‘ X Pl e Canadian Certificate CRN
MATERIAL LIST
MATERIAL sizE |PorT| L L5 L6 E H H1 | H7 | ¢ | oy oK z
NO- PART NAME (e e erElED) DN8 | 14" | 110 | 572 | 290 | 250 |133.0 | 627 | 110 | 60 | 9.0 | 120 | 36/F03 M5 * 0.8
ASTM A351 Gr.CF8M DN10 | 3/8" | 11.0 | 57.2 | 29.0 | 250 | 1330 | 627 | 1.0 | 60 | 90 | 120 | 36/F03 M5 * 0.8
1 BODY ASTM A216 Gr.WCB DN15 | 127 | 125 | 66.0 | 335 | 250 | 1330 | 647 | 110 | 60 | 90 | 120 | 36/F03 M5 * 0.8
4| BALL ASTM A351 Gr.CF8M DN20 | 3/4" | 16.0 | 77.0 | 387 | 250 | 1330 | 677 | 1.0 | 60 | 90 | 120 | 36/F03 M5 * 0.8
5 | STEM ASTM A276 Gr.316 DN25| 1" | 200 | 885 | 46.0 | 200 | 1330 | 71.2 | 110 | 60 | 90 | 120 | 42/F04 M5 * 0.8
ASTM A351 Gr.CF8M DN32 | 1-1/4” | 254 | 1033 | 51.7 | 355 | 1785 | 887 | 235 | 80 | 11.0 | 150 | 50/F05 M6 * 1.0
2| P ASTM A216 Gr.WCB DN40 | 1-1/2" | 318 | 111.0 | 61.0 | 355 | 1785 | 93.7 | 235 | 80 | 11.0 | 150 | 50/F05 M6 * 1.0
11| BODY SEAL PTFE. DN50 | 2' | 381 | 1364 | 714 | 355 | 1785 | 982 | 235 | 80 | 14.0 | 150 | 50/F05 M6 * 1.0
12| SEAT PTFE. DIMENSION unit : inch
L8| UnlRUIIT O Sal PIE sizE |PorT| L L5 L6 E H H1 | H7 | ¢ | oy oK z
e RSIENIER KNG PTFE. DN8 | 1/4" | 043 | 225 | 114 | 098 | 524 | 247 | 043 | 024 | 035 | 047 | 1.42/F03 | M5*0.8
e LD LY E DN10 | 3/8" | 043 | 225 | 114 | 098 | 524 | 247 | 043 | 024 | 0.35 | 0.47 | 1.42/F03 | M5%0.8
)| FANDILE S5304 DN15 | 1/2" | 049 | 260 | 132 | 098 | 524 | 255 | 043 | 024 | 0.35 | 047 | 1.42/F03 | M5+08
21| HANDLE COVER PLASTIC DN20 | 3/4" | 0.63 | 303 | 152 | 098 | 524 | 267 | 043 | 024 | 0.35 | 047 | 142/F03 | M5*08
23 | HANDLE WASHER SS304 DN25| 17 | 079 | 348 | 1.81 | 114 | 524 | 2.80 | 043 | 024 | 0.35 | 0.47 | 1.65/F04 M5 * 0.8 -
23-1 WASHER SS304 DN32 | 1-1/4” | 1.00 | 407 | 204 | 140 | 703 | 349 | 093 | 031 | 043 | 0.59 | 1.97/F05 M6 * 1.0 §
24| SCREW $S304 DN40 | 1-1/2" | 125 | 437 | 240 | 140 | 7.03 | 369 | 093 | 0.31 | 043 | 0.59 | 1.97/F05 M6 * 1.0 g
28| LOCKING DEVICE SS304 DN50 | 2' | 150 | 537 | 281 | 140 | 7.03 | 3.87 | 093 | 0.31 | 0.55 | 0.59 | 1.97/F05 M6 * 1.0 §
=
&

www.modentic.com.tw

md _sales @ms.modentic.com.tw © 2016 Modentic Industrial Corporation

Modentic reserves the rights to change the contents without prior notice

No. 9, Wugong 6th Rd., Wufeng Dist., Taichung City 413, Taiwan (R.O.C.) Materials with the registered trademark designation ® are typical materials
Tel : + 886 4 23317777 » Fax:+ 886 4 23317771 and owned by other respective companies



